CR=
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+5V  + 15V
3BW)x 27(D)x 7(H) m/m



CR=

AK225
Vin 4.75 5.00 5.25| V
+ 5V | Vol lol=max +4.85| +5.00 | +5.15
+15V | Vo2 102=max +14.55 | +15.00 | +15.45
-15V | Vo3 103=max -14.55 | -15.00 | -15.45
+ 5V |lol Ta=0 +55 Vin=min max +0 +300
+15V | 102 Ta=0 +55 Vin=min max +5 +50 mA
-15V | 103 Ta=0 +55 Vin=min max -5 -50
+ 5V ]vrl Vin=min max lo=max 20 mvVpp
& +15V | Vr2 20MHz 20
-15V | Vr3 20
n Vin=typ lo=max 70 %
lreg Vin=min maxlo=max 0.1 %
Lreg Vin=typ 10=50% 100% 0.5 %
Treg Ta=0 +55 0.01 | %/
Vin=typ lo=max
Creg Vin=typ lo2=max lo3=min 3 %
Areg Ta=0 +55 5 %
Vin=min max lo=min max
Sin lo=min 3.0 4.5 v
Rio
DC 500V 100 MQ
+5V  + 15V
Roo
Vio 500 V-AC
+5V £ 15V
Voo 500 V-DC
Cio 30 PF
Lmit 105 %
Ta=+55 +70
+70 50%
+ 15V +5V 10p F 0.1y
20MHzBW
50cm 50Q

35(W)x 27(D)x 7(H)(n/m)
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-15Vm
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BOX
C R Ll COM2 m
I=+Vin +15vVm ~
DC-DC CONVERTER
Input:SVi 5% +5\ m
Output:+5V+300mA
Output:+ 15V+ 50mA
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CR=

+ 15V + 5mA
S5V

10p F 0.1y F( )

AK-225



